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Periodical Assessment Test [English Medium] 

Std-8                           Social Science    August - 2020 

Time : 1 hour                                                      Marks – 25 

(L.O.- Learning Outcome) 

 

L.O States effects of the arrival of the European people in India.   

Q.1  The British became successful in establishing rule in India after the battle of 

Plassey and Buxar. – Explain.  

(5) 

L.O.  Explains the various layers on the earth and its effects on human life.   

Q.-2  Do as directed.   

1 1. What harm is caused to our life when hydrosphere gets polluted?  (2) 

 2. Answer based on the map.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  Which layer is shown by  ---- symbol in the given world map? (1) 

  Which layer is shown by  ---- symbol in the given world map? (1) 

 3. What is the effects of Nitrogen gas present in atmosphere on Oxygen? Explain. 

in short 

(1) 

L.O. Knows the information about the Earth’s crusts and shows the solution for its 

maintenance. 

 

Q.3 A Fill in the blanks by selecting appropriate option. (2) 

 1. Nuclear tests cause damage to …………………..(Hydrosphere, Lithosphere)  

 2. The atmosphere is damaged due to ……………….(Heat, Vehicles)  

Q-3 B State two measures to maintain the following layers. 

 

(3) 

 1. Atmosphere       2. Lithosphere        3. Hydrosphere  
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L.O Describes the features of the constitution of India such as secularism, republic, 

federations and fundamental rights. 

 

Q.4 Answer the following questions in one sentence.  

 1. What are the main features of the Indian constitution? 
 

(1) 

 2. Name the main organs (bodies) of the central government and its functions. (2) 

 3. What is your current age? After how many years you will be able to vote in 

election? 

(1) 

 4. ‘Every citizen of India has the freedom to practice his or her own religion. Which 

feature of the constitution does this sentence represents? 

 

(1) 

L.O. Describes how foreigners used the weakness of the Indian rulers to establish an empire 

in India  

 

Q.5 Match the column  (5) 

  

 

 

 

 

(A) (B) 

1. Bengal 1. One of the three Universities 

2. Maratha States 2. The temptation of Mir Jafar to be the king 

3. Punjab 3. Khalsa policy 

4. Jhansi 4. Discrimination policy 

5. Mumbai 5. Support scheme 

 

 

 

 

 

 

 

 

 

 

 

 


